



The following documentation is an electronically-submitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at wvOASIS.gov. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at WVPurchasing.gov with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.

Header @ 2

List View

General Information | Contact | Default Values | Discount | Document Information | Clarification Request

Procurement Folder: 1903631

Procurement Type: Central Purchase Order

Vendor ID: 000000163526

Legal Name: APPALACHIAN TIMBER SERVICES LLC

Alias/DBA:

Total Bid: \$121,220.00

Response Date: 03/10/2026

Response Time: 19:44

Responded By User ID: ApptimberAS

First Name: Austin

Last Name: Swedish

Email: aswedish@atstimber.com

Phone: 412 607 7240

SO Doc Code: CRFQ

SO Dept: 0810

SO Doc ID: DMT2600000006

Published Date: 2/23/26

Close Date: 3/11/26

Close Time: 13:30

Status: Closed

Solicitation Description: IG Ties Delivered to Durbin, WV & Moorefield, WV

Total of Header Attachments: 2

Total of All Attachments: 2

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	IG Ties - 7" x 9" x 8' 6"	1520.0000	EA	58.000000	88160.00

Comm Code	Manufacturer	Specification	Model #
30103612			

Commodity Line Comments:

Extended Description:

1,520 IG Ties - 7" X 9" X 8' 6" Delivered to Durbin, WV

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	IG Ties - 7" x 9" x 8' 6"	570.00000	EA	58.000000	33060.00

Comm Code	Manufacturer	Specification	Model #
30103612			

Commodity Line Comments:

Extended Description:

570 IG Ties - 7" X 9" X 8' 6" Delivered to Moorefield, WV



Department of Administration
 Purchasing Division
 2019 Washington Street East
 Post Office Box 50130
 Charleston, WV 25305-0130

State of West Virginia
 Centralized Request for Quote
 Miscellaneous

Proc Folder: 1903631			Reason for Modification:
Doc Description: IG Ties Delivered to Durbin, WV & Moorefield, WV			
Proc Type: Central Purchase Order			
Date Issued	Solicitation Closes	Solicitation No	Version
2026-02-23	2026-03-11 13:30	CRFQ 0810 DMT2600000006	1

BID RECEIVING LOCATION

BID CLERK
 DEPARTMENT OF ADMINISTRATION
 PURCHASING DIVISION
 2019 WASHINGTON ST E
 CHARLESTON WV 25305
 US

VENDOR

Vendor Customer Code: 000000163526
Vendor Name : Appalachian Timber Services
Address : 393 Edgar Given Pkwy, Sutton, WV 26601
Street : 393 Edgar Given Pkwy
City : Sutton
State : WV **Country :** US **Zip :** 26601
Principal Contact : Ben Klatt - Sales Representative
Vendor Contact Phone: 9102185051 **Extension:**

FOR INFORMATION CONTACT THE BUYER

John W Estep
 304-558-2566
 john.w.estep@wv.gov

Vendor Signature X

FEIN# 262262131

DATE 3/10/2026

All offers subject to all terms and conditions contained in this solicitation

ADDITIONAL INFORMATION**REQUEST FOR QUOTATION:**

The West Virginia Purchasing Division is soliciting bids on behalf of the WV State Rail Authority (SRA) to establish a contract for the one-time purchase of IG crossties to Durbin, WV and Moorefield, WV. Per the Bid Requirements, Specifications, Terms and Conditions attached to this solicitation.

INVOICE TO		SHIP TO	
STATE RAIL AUTHORITY 120 WATER PLANT DR		WV CENTRAL RAILROAD WV CENTRAL RAILROAD 4759 STAUNTON- PARKERSBURG TURNPIKE	
MOOREFIELD	WV	DURBIN	WV
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	IG Ties - 7" x 9" x 8' 6"	1520.00000	EA	\$58.00	\$88,160.00

Comm Code	Manufacturer	Specification	Model #
30103612			

Extended Description:

1,520 IG Ties - 7" X 9" X 8' 6" Delivered to Durbin, WV

INVOICE TO		SHIP TO	
STATE RAIL AUTHORITY 120 WATER PLANT DR		STATE RAIL AUTHORITY (DBA) SOUTH BRANCH VALLEY RAILROAD 120 WATER PLANT DR	
MOOREFIELD	WV	MOOREFIELD	WV
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
2	IG Ties - 7" x 9" x 8' 6"	570.00000	EA	\$58.00	\$33,060.00

Comm Code	Manufacturer	Specification	Model #
30103612			

Extended Description:

570 IG Ties - 7" X 9" X 8' 6" Delivered to Moorefield, WV

SCHEDULE OF EVENTS

Line	Event	Event Date
1	Tech Questions due by 10:00am	2026-03-02

	Document Phase	Document Description	Page
DMT2600000006	Final	IG Ties Delivered to Durbin, WV & Moorefield, WV	3

ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions

Exhibit A

Pricing Page for IG Railroad Crossties

Line Item	Description	Unit Cost	Unit of Measure	Quantity	Extended Cost
	Supply and Deliver Crossties				
3.1.1	IG Railroad Crossties delivered to WV Central Railroad, Durbin, WV	\$58.00	per tie	1,520	\$ 88,160.00
3.2.1	IG Railroad Crossties delivered to South Branch Valley Railroad, Moorefield, WV *	\$58.00	per tie	570	\$ 33,060.00
				Total Bid:	\$ 121,220.00

*** WVCR Address**

WV Central Railroad, 4759 Staunton-Parkersburg Turnpike, Durbin, WV 26264

*** SBVR Address**

South Branch Valley Railroad, 120 Water Plant Drive, Moorefield, WV 26836